
Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

TRAILER, DOLLY, CRADLE
161-0000  DOLLY - PONTOON - 26''L X 30''W - 3000 # - GALV 12 EA 174.80$            
161-0100  DOLLY - SHOWROOM - 38''L X 24''W - 3000 # - GALV 1 EA 161.28$            
161-0400  DOLLY - SHOWROOM - 60''L X 36''W - 4000 # - GALV 3 EA 401.95$            
161-0600  DOLLY - TRAILER ''J'' SHAPE - 56''L X 34''W - 900 # - GALV 3 EA 165.92$            
CHASSIS, FRAME
208-0230 X-MEM 3'' X 72'' ALUM VEE - 0H 12 EA 81.74$              
208-0240 X-MEM 3'' X 80'' ALUM VEE - 0H 34 EA 90.70$              
211-1100 TONGUE SUPPORT 2" X 3" X 1/4" X 26" - GALV 20 EA 9.99$                
211-1200 TONGUE SUPPORT 2" X 3" X 1/4" X 33" - GALV 24 EA 9.61$                
219-2010 RACK ASSY - FRONT EC2K W/BUNK 1 EA 68.71$              
TONGUE
310-0200 COUPLER - 2" BALL - 2" TONGUE - 3.5K 1,452 EA 14.89$              
310-0320 COUPLER - 2 5/16'' BALL - 3'' TONGUE - 21K 28 EA 70.46$              
311-0020 LUNETTE - ADJ COUPLER - 3'' EYE - 20K 1 EA 46.03$              
311-0030 CLEVIS - ADJ COUPLER - 1'' CLEVIS - 20K 56 EA 31.90$              
311-2020 LUNETTE ASSY - ADJ - 3'' EYE - 20K 2 EA 64.94$              
312-0000 COUPLER - FLANGE - 2 5/16'' BALL - 25K - BULLDOG 5 EA 105.66$            
312-0010 DRAWBAR - FLANGE - 2 1/2'' EYE - 35K 6 EA 111.12$            
312-0020 DRAWBAR - FLANGE - 4 BOLT - 60K 2 EA 121.83$            
313-0000 COUPLER - AUSTRALIAN - 50MM BALL - 3.5KG 2 EA 80.53$              
313-0010 COUPLER - AUSTRALIAN - 70MM BALL - 4.5KG 2 EA 151.14$            
313-0021 COUPLER - A-FRAME - 2" BALL - 5K 445 EA 14.30$              
313-0040 COUPLER - A-FRAME - 2 5/16" BALL - 10K 226 EA 18.29$              
314-0071 ACTUATOR - ADJ CHANNEL- drum zinc- 12.5K - DEMCO 1 EA 325.81$            
314-0081 ACTUATOR - DISC - 2 5/16" BALL - 12.5K - TITAN (6H) 4 EA 407.06$            
314-9011 SOLENOID  VALVE - ACTUATOR - OVERFLOW/NEW - TD 27 EA 44.45$              
314-9020 SOLENOID COVER - ACTUATOR - MOD 10/20 - TITAN 3 EA 4.54$                
314-9100 FILLER CAP - ACTUATOR - 2 1/4'' D - 6.6K/8K - 48986A - TD 5 EA 13.05$              
314-9110 FILLER CAP - ACTUATOR - 16.5K - TD 14 EA 8.96$                
314-9120 FILLER CAP - ACTUATOR - MOD 6 - TITAN 11 EA 7.31$                
314-9220 SAFETY CABLE - ACTUATOR - BREAKAWAY 12.5K/20K - TD 6 EA 13.00$              
314-9230 SAFETY CABLE - ACTUATOR - BREAKAWAY DA10/20 - DEMCO 8 EA 9.02$                
314-9240 SAFETY CABLE - ACTUATOR - BREAKAWAY - TD 2 EA 15.81$              
314-9250 SAFETY CABLE - ACTUATOR - BREAKAWAY MOD 6/60 - TITAN 16 EA 11.05$              
314-9301 MASTER CYL - ACTUATOR - DISC 16.5K - TD 8 EA 183.85$            
314-9304 MASTER CYL - ACTUATOR - DISC 66/70/80 LEVER LATCH - TD 5 EA 161.34$            
314-9306 MASTER CYL - ACTUATOR - DISC MOD 10/20 - TITAN 31 EA 83.43$              
314-9310 BRACKET - ACTUATOR - M/C MOD 10/20 - RH - TITAN 1 EA 39.51$              
314-9311 BRACKET - ACTUATOR - M/C MOD 10/20 - LH - TITAN 7 EA 25.88$              
314-9321 MASTER CYL - ACTUATOR - DISC 16K/OLD STYLE - DEMCO 2 EA 68.88$              
314-9322 MASTER CYL - ACTUATOR - DISC 12.5K/16K/20K - DEMCO 8 EA 65.81$              
314-9323 MASTER CYL - ACTUATOR - DISC 6.6K/8.5K - DEMCO 2 EA 125.53$            
314-9330 GASKET - ACTUATOR - M/C - DEMCO 10 EA 1.86$                
314-9400 REPAIR KIT - ACTUATOR - COUPLER 16.5K - TD 6 EA 28.57$              

Page 1 of 13

TAKE ADVANTAGE OF UNBEATABLE PRICES FROM OCTOBER 1 TO NOVEMBER 30, 2025

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com

RominaMontoya
Line



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

314-9402 REPAIR KIT - ACTUATOR - COUPLER MOD 60 43329 - TITAN 2 EA 40.77$              
314-9403 REPAIR KIT - ACTUATOR - COUPLER MOD 60 43397 - TITAN 4 EA 15.70$              
314-9404 REPAIR KIT - ACTUATOR - COUPLER 2 5/16'' BALL - TITAN 18 EA 41.92$              
314-9500 BALL LATCH - ACTUATOR - MOD 60 - TITAN 16 EA 6.18$                
314-9602 SHOCK ABSORBER - ACTUATOR - MOD 6/10 - TITAN 4 EA 32.60$              
315-0010 ACTUATOR - DRUM - 2'' BALL - 6.6K - TD 12 EA 166.56$            
315-0020 ACTUATOR - DRUM - 2'' BALL - 7.5K - TD 12 EA 203.96$            
315-0030 ACTUATOR - DRUM - MOD 60 - MULTI-FIT - TITAN 6 EA 173.33$            
315-9000 MASTER CYL - ACTUATOR - DRUM 66/70/80 L/L - TD 2 EA 144.13$            
315-9010 MASTER CYL - ACTUATOR - DRUM - MOD 6 - TITAN 5 EA 90.54$              
315-9020 MASTER CYL - ACTUATOR - DRUM - MODEL 10/20 - TITAN 10 EA 83.43$              
316-2000 SAFETY CHAIN - 3/16'' X 27'' - 2K - PACKAGED 58 EA 9.79$                
316-2010 SAFETY CHAIN - 1/4'' X 27'' - 5K - PACKAGED 24 EA 9.24$                
317-9038 S HOOK - 3/8'' - ZINC - 9001 2 EA 2.70$                
318-0011 CAM ADAPTER - EOH - HYDRASTAR 6 EA 111.75$            
319-0011 TONGUE BOX - DIAMOND PLATE 9 EA 378.68$            
320-0000 TILT LATCH - ZINC 254 EA 9.58$                
320-0010 HINGE KIT - 2'' X 3'' SWING TONGUE 3 EA 86.48$              
321-0030 JACK - SWIVEL 8'' WHEEL - 1500 # - D/L 21 EA 73.39$              
321-0100 JACK - DROP LEG - 2500 # - D/L 32 EA 104.98$            
321-0140 JACK - DROP LEG - 2500 # - FULTON 35 EA 131.39$            
321-0180 JACK - A-FRAME - 2000 # - FULTON 2 EA 65.13$              
321-0200 JACK - A-FRAME - 5000 # - D/L 4 EA 45.27$              
321-0250 JACK - DROP LEG WELD ON - 10,000 # 8 EA 290.14$            
321-9000 WHEEL - TONGUE JACK 6'' - POLY 10 EA 16.93$              
321-9002 WHEEL - JACK 8'' - POLY - D/L 7 EA 11.78$              
321-9011 PLATE - JACK I-BEAM - 4 1/2'' - D/L 6 EA 5.95$                
999-9997 JACK 1,000 # - SWIVEL SIDE WIND 82 EA 29.87$              
STAND, STOP
400-1000 WINCH STAND 2'' X 2'' X 18'' STR - GALV 1 EA 15.87$              
400-1100 WINCH STAND 2" X 2" X 24" STR - GALV 21 EA 11.63$              
401-1110 WINCH STAND 2'' X 3'' X 20'' - GALV 2 EA 17.13$              
401-1210 WINCH STAND 2'' X 3'' X 24'' - GALV 18 EA 21.69$              
401-1300 WINCH STAND 2'' X 3'' X 30'' STR - GALV 45 EA 23.95$              
402-1400 WINCH STAND 3'' X 3'' X 48'' STR - GALV 88 EA 98.27$              
405-1010 WINCH STAND 17K - 3" X 4" X 36" - GALV 10 EA 75.09$              
405-1110 WINCH STAND 17K - 3" X 4" X 48" - GALV 9 EA 86.74$              
406-1000 WINCH STAND B/C - 3'' X 4'' X 20'' - GALV 25 EA 40.71$              
406-1100 WINCH STAND B/C - 3'' X 4'' X 24'' - GALV 5 EA 76.43$              
406-1200 WINCH STAND B/C - 3'' X 4'' X 30'' - GALV 34 EA 68.91$              
411-1400 BOW STOP LT- BENT ARMS - GALV 302 EA 18.70$              
411-1500 BOW STOP 205 EA 37.59$              
413-1000 BOW STOP - SKIFF - 2'' W STAND - GALV 1 EA 17.54$              
413-1100 BOW STOP - SKIFF - 3'' W STAND - GALV 22 EA 17.84$              
414-2100 -BOW STOP - TRI-TOON - ASSEMBLY 1 EA 98.30$              
416-1000 BOW STOP SEADOO - GALV 10 EA 41.20$              
416-2000 -BOW STOP ASSY - SEA DOO - COMPLETE 3 EA 81.58$              
421-1030 HDBC BASE 30" TUBE - GALV 87 EA 71.02$              
421-1060 BOWCATCHER PART - 90  HDBC - 18" BASE - GALV 1 EA 27.20$              
421-3170 BOWCATCHER ASSEMBLY - 90° HDBC - HEAVY DUTY - 18B 1 EA 215.16$            
424-0000 ROLLER - BOW - 3'' - POLY 17 EA 6.18$                
424-0001 ROLLER - BOW - 3'' - POLY 42 EA 7.41$                
424-0002 ROLLER - BOW - 4'' - POLY 10 EA 8.24$                

Page 2 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

424-0004 ROLLER - BOW - 3'' - YELLOW 14 EA 1.83$                
424-0008 ROLLER - BOW - 4'' - BLACK 30 EA 3.29$                
424-0200 ROLLER - BOW - 3'' - TPR 98 EA 3.22$                
424-2005 ROLLER ASSY - BOW - 3'' - W/BELL 46 EA 7.83$                
424-2008 ROLLER ASSY - BOW - 4'' - BLACK 31 EA 10.24$              
425-0002 ROLLER - BOW - 5'' - HD - POLY 9 EA 8.66$                
425-0100 ROLLER - SPOOL - 4'' - RUBBER 356 EA 3.67$                
425-0101 ROLLER - SPOOL - 5'' - RUBBER 2 EA 4.23$                
425-0200 ROLLER - SPOOL - 4'' - 1/2'' ID - TPR 1 EA 2.91$                
425-0201 ROLLER - SPOOL - 4'' - 5/8'' ID - TPR 25 EA 5.53$                
425-0202 ROLLER - SPOOL - 5'' - 1/2'' ID - TPR 34 EA 5.98$                
425-0203 ROLLER - SPOOL - 5'' - 5/8'' ID - TPR 10 EA 5.98$                
426-0000 END CAP - BOW ROLLER - 3 3/4'' - POLY 15 EA 3.74$                
426-0010 END BELL - BOW ROLLER - 5 1/4'' - POLY 93 EA 7.24$                
426-0050 END BELL - BOW ROLLER - 3'' - YELLOW 233 EA 1.83$                
426-0060 END BELL - BOW ROLLER - 3'' - BLACK - POLY 2 EA 2.39$                
426-0080 END BELL - BOW ROLLER - 4'' - BLACK - POLY 82 EA 2.91$                
426-0200 END BELL - BOW ROLLER - 3'' - TPR 92 EA 3.85$                
426-0201 END BELL - BOW ROLLER - 4'' - TPR 521 EA 3.92$                
427-0000 ROLLER - KEEL - 7'' - POLY 27 EA 16.64$              
427-0004 ROLLER - KEEL - 18'' - POLY 23 EA 29.20$              
427-0005 ROLLER - KEEL - 8'' - YELLOW 105 EA 12.06$              
427-0103 ROLLER - KEEL - 12'' - RUBBER 123 EA 13.29$              
427-0201 ROLLER - KEEL - 10'' - 5/8'' ID - TPR 6 EA 16.78$              
428-0000 V-BLOCK - BOW - 2'' - POLY 16 EA 5.38$                
428-0100 V-BLOCK - BOW - 2'' - RUBBER 43 EA 2.73$                
429-0000 BLOCK - BOW STOP - POLY 18 EA 10.36$              
431-0000 ROLLER - WOBBLE - 5''D - BLACK 3 EA 6.93$                
432-1020 SPLIT BRACKET SET - ROLLER - LH/RH - GALV 152 EA 7.38$                
432-1030 BRACKET - ROLLER - 5'' - GALV 64 EA 8.78$                
432-1040 BRACKET - ROLLER - 8'' - GALV 37 EA 8.93$                
432-1050 BRACKET - ROLLER - 10'' - GALV 48 EA 13.08$              
432-1060 BRACKET - ROLLER - 12'' - GALV 97 EA 10.20$              
432-2000 ROLLER ASSY - TONGUE - 2'' - POLY 5 EA 17.09$              
432-2001 ROLLER ASSY - TONGUE - 3'' - POLY 6 EA 14.62$              
433-0000 SHAFT - 5'' ROLLER - 5/8'' X 6 1/2'' - DRILLED - SS 14 EA 7.10$                
433-0001 SHAFT - 8'' ROLLER - 5/8'' X 9 1/2'' - DRILLED - SS 1 EA 7.87$                
433-0100 SHAFT - 4" ROLLER - 1/2" X 5 1/2" - ZINC 21 EA 0.87$                
433-0103 SHAFT - 5'' ROLLER - 5/8'' X 6 1/2'' - ZINC 74 EA 1.51$                
433-0105 SHAFT - 10'' ROLLER - 5/8'' X 11 1/2'' - ZINC 210 EA 2.76$                
433-0106 SHAFT - 12'' ROLLER - 5/8'' X 13 1/2'' - ZINC 42 EA 3.09$                
434-0050 STRAP - WINCH - 3'' X 25' - 9000 # - HD - BULK 96 EA 19.79$              
434-0100 CABLE - WINCH - 1/8'' X 20' - 2000 # - BULK 14 EA 7.52$                
434-0110 CABLE - WINCH - 3/16'' X 25 - 4000 # - BULK 17 EA 10.60$              
434-0120 CABLE - WINCH - 3/16'' X 50' - 4000 # - BULK 12 EA 12.87$              
434-0130 CABLE - WINCH - 7/32'' X 25' - 5000 # - BULK 36 EA 13.72$              
434-0140 CABLE - WINCH - 7/32'' X 50' - 5000 # - BULK 48 EA 17.13$              
435-0000 HOOK - SNAP - 5/16'' CLEVIS - 2600 # 188 EA 3.63$                
435-0010 HOOK - SNAP - 3/8'' CLEVIS - 3900 # 5 EA 6.02$                
436-2011 WINCH - 900 # - W/STRAP - KNOTT - PAINT 60 EA 22.76$              
436-4050 WINCH - 1600 # - BOXED - D/L 6 EA 46.41$              
436-4071 WINCH - 2000 # - 2 SPEED W/BRAKE - BOXED - D/L 1 EA 84.91$              
436-9000 HANDLE SMALL - WINCH - NUT - D/L 94 EA 0.59$                

Page 3 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

436-9001 HANDLE LARGE - WINCH - NUT - D/L 26 EA 0.97$                
436-9010 HANDLE - WINCH - 7''L - NUT - D/L 264 EA 5.80$                
436-9012 HANDLE - WINCH - 9 1/2''L - NUT - D/L 479 EA 7.94$                
436-9102 RATCHET KIT - WINCH - D/L 14 EA 3.25$                
436-9103 RATCHET KIT - WINCH - D/L 3 EA 4.86$                
436-9105 RATCHET KIT - WINCH - D/L 11 EA 6.36$                
UNDERCARRIEAGE
500-0720 TUBE - 1.5'' X 11GA AXLE - CUT @ 72.00'' - GALV 2 EA 26.55$              
501-0600 TUBE - 2'' X 7GA AXLE - CUT @ 60.00'' - GALV (5') 1 EA 41.89$              
503-0022 SPINDLE - 1 3/8'' X 1 1/16'' - 1 1/2'' RD 104 EA 14.20$              
503-9022 NUT - AXLE - 1" - KNOTT 555 EA 1.87$                
503-9025 NUT - AXLE - M24 X 1.5 FLANGED - KNOTT 200 EA 2.07$                
503-9031 COTTER PIN - 1/8'' X 2'' SS 3,400 BX100 6.67$                
503-9033 COTTER PIN - 1/4" X 2 1/2" - SS 201 EA 0.28$                
504-0000 HUB ONLY 4 HOLE 1 734 EA 7.93$                
504-0020 HUB ONLY 5 HOLE UHI 3 EA 15.86$              
504-0023 5 BOLT X 5.0 HUB ONLY 125 EA 16.43$              
504-0030 HUB 6 BOLT 13/4"X11/4 5 EA 15.86$              
504-4000 HUB KIT 4 HOLE 1'' SPIN- EXPORT ONLY 75 EA 15.30$              
504-4001 HUB KIT 4 LUG - 1 1/16 205 EA 13.49$              
504-4010 HUB KIT 5 HOLE 1'' SPDL 257 EA 14.96$              
504-4011 HUB KIT 1 1/16 499 EA 14.98$              
504-4020 HUB KIT 5 HOLE UHI SPD 23 EA 21.76$              
504-4023 5 BOLT X 5.0 HUB KIT 12 EA 26.04$              
504-4030 HUB KIT 6 LUG 13/4X11/ 2 EA 32.49$              
504-4032 HUB KIT 6 BOLT X 5.55 2 EA 30.10$              
504-4112 HUB ASSY - COMPACT K 1500# 388 EA 59.72$              
504-4130 HUB KIT GALV 1 3/4X1 1/4 262 EA 39.55$              
504-4131 HUB KIT 6 BOLT - LONG STUD 32 EA 47.46$              
504-9000 STUD - 1/2'' X 1.219'' OAL - TITAN 1 EA 1.29$                
504-9004 STUD - 1/2'' X 1.500'' OAL 209 EA 0.73$                
504-9030 STUD - 1/2'' X 2.000'' OAL - KNOTT 13 EA 1.12$                
504-9031 STUD - 1/2'' X 2.500'' OAL - KNOTT 1 EA 2.91$                
504-9040 STUD - 1/2'' - DEEMAXX 138 EA 0.70$                
504-9041 STUD - 9/16'' - DEEMAXX 59 EA 3.12$                
505-0013 RACE - 2.687'' OD 30 EA 1.98$                
505-0040 RACE - 3.625'' OD - FOR 10K SPINDLE 64 EA 3.97$                
507-0001 SEAL - 1 1/16'' SPDL - 1.250'' ID / 1.980'' OD - TDE 1,202 EA 0.68$                
507-0005 SEAL - 10K HUB - 2.750'' ID / 3.799'' OD 27 EA 12.46$              
507-0010 SEAL DLX - 1'' - 1 1/16'' SPDL - 1.149'' ID / 1.990'' OD 139 EA 2.84$                
507-0012 SEAL DLX - 1 3/8'' X 1 1/16'' SPDL - 1.719'' ID / 2.570'' OD 12 EA 3.17$                
507-0020 SEAL KIT SPINDO - # 1 - USE W/BB 1980 38 EA 10.36$              
507-0022 SEAL KIT SPINDO - # 5 - USE W/BB 1980 88 EA 10.20$              
507-0023 SEAL KIT SPINDO - # 10 - USE W/BB 1810 45 EA 10.20$              
508-0020 DUST CAP S/L - 1.5K/2.5K/3.5K HUB - 1.980" OD - SS 100 EA 5.85$                
508-0022 DUST CAP S/L - 7K/8K HUB - 2.750" OD - SS 14 EA 6.52$                
508-0031 DUST CAP S/L - 6K HUB - 2.441" OD - ZINC - KNOTT 643 EA 1.59$                
508-0043 DUST CAP CLEAR - 10K HUB - DEEMAXX - PLASTIC 26 EA 30.59$              
508-0052 DUST CAP CLEAR - 8K HUB - KODIAK - PLASTIC 41 EA 10.39$              
508-0101 BEARING BUDDY - 1.810'' - 2X PACK 48 EA 13.60$              
508-0112 BEARING BUDDY - SS - 1.980'' - BULK 68 PR 14.59$              
508-9030 PLUG - DUST CAP - RUBBER - KNOTT 781 EA 0.42$                
510-0640 AXLE - SQ TUBE - 64" OAL - 1,500 # 1 EA 77.04$              

Page 4 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

510-0740 AXLE - SQ TUBE - 74" OAL - 1,500 # 6 EA 27.46$              
510-1533 AXLE - SQ TUBE - 53 1/4" OAL - 1,200 # (AXC1H) 124 EA 77.04$              
511-0930 AXLE - SQ TUBE - 93'' OAL - 2500 # 4 EA 70.25$              
511-0960 AXLE - SQ TUBE - 96" OAL - 2,500 # 3 EA 55.46$              
512-0000 AXLE - SQ TUBE - 100" OAL - 3,500 # - NBF 34 EA 86.11$              
518-0540 TORSION AXLE - STR - 54'' FRAME - 0 - 2200 # - TDE 2 EA 294.39$            
518-0721 TORSION AXLE - VEE - 72'' FRAME - 30 - 3500 # - TDE 20 EA 353.57$            
518-0801 TORSION AXLE - VEE - 80'' FRAME - 30 - 3500 # - TDE 25 EA 353.57$            
518-0802 TORSION AXLE - VEE - 80'' FRAME - 30 - 6000 # - TDE 10 EA 557.11$            
518-0820 TORSION AXLE - STR - 82'' FRAME - 10 UP - 3500 # - TDE 11 EA 358.54$            
518-0821 TORSION AXLE - VEE - 82'' FRAME - 0 - 3500 # - TDE 9 EA 404.87$            
518-9095 TORSION AXLE - AAZ00095 - 72" FRAME - 6,000 # - TDE 1 EA 577.00$            
518-9771 TORSION AXLE - 200771 - 6,000 # - TDE 6 EA 557.88$            
519-0804 - TORSION AXLE - VEE - 80'' FRAME - 0 - 8000 # 4 EA 710.67$            
520-4030 U/C SLIDE - 30'' SPR - FMB - SET 1 EA 48.82$              
521-4010 U/C SLIDE - 20'' SPR - 10'' TIRE - SET 31 EA 59.44$              
521-4020 - U/C SLIDE - 20'' SPR - FMB - SET 1 EA 55.29$              
521-4060 U/C SLIDE - 25'' SPR - PF 13'' TIRE - SET 32 EA 69.45$              
522-4020 - U/C SLIDE - 20'' SPR T/A - DBL FMB - SET 9 EA 106.24$            
522-4040 - U/C SLIDE - 20'' SPR T/A - FMB - SET 5 EA 78.99$              
525-2920 SPRING - 29-1/2'' 2 LEAF SLIPPER 875 # 223 EA 21.82$              
526-9001 BUSHING - LEAF SPRING - 7/8'' OD X 1/2'' ID X 1/2'' L 421 EA 0.51$                
526-9002 BUSHING - LEAF SPRING - 7/8'' OD X 1/2'' ID X 1 3/4'' L 508 EA 0.55$                
526-9004 BUSHING - LEAF SPRING - 1'' OD X 1/2'' ID X 1 3/4'' L 351 EA 0.55$                
526-9005 BUSHING - LEAF SPRING - 7/8'' OD X 9/16'' ID X 1 3/4'' L 492 EA 0.55$                
527-0000 GUIDE - SLIPPER SPR - 3/4'' X 2'' WELD ON - STEEL 148 EA 0.69$                
527-0010 HANGER - SPRING - 2 1/4'' WELD ON - STEEL 390 EA 3.42$                
527-0020 HANGER - SPRING - 1 3/4'' WELD ON - STEEL 2,884 EA 0.81$                
527-0030 HANGER - SPRING - 1 1/4'' WELD ON - STEEL 554 EA 1.81$                
527-0040 HANGER - EQUALIZER - 2 1/4'' WELD ON - STEEL 818 EA 2.59$                
527-0052 EQUALIZER BAR - 6 1/8'' E2E - 11/16'' - 9/16'' - PAINT 8 EA 12.30$              
527-1031 HANGER - SHACKLE - 1 3/8'' BOLT ON - GALV 9 EA 3.57$                
527-9112 SPRING PAD - FITS SQ TUBES OF 1 1/2'' OD 600 EA 1.75$                
527-9122 SPRING PAD - FITS SQ TUBES OF 2'' OD 114 EA 1.10$                
527-9130 SPRING PAD - FITS RD TUBES OF 3'' OD 63 EA 4.51$                
534-0110 HUB/ROTOR - 10'' INT - KODIAK 33 EA 83.64$              
534-0120 HUB/ROTOR - 12'' INT - KODIAK 52 EA 82.49$              
534-0130 HUB/ROTOR - 13'' INT 7K - KODIAK 66 EA 109.97$            
534-0140 HUB/ROTOR - 13'' INT 8K - KODIAK 30 EA 92.66$              
534-0250 HUB/ROTOR - 13" INT 10K - DEEMAXX 19 EA 335.76$            
534-0410 HUB/ROTOR - 10" INT - KNOTT 1 EA 50.95$              
534-0420 HUB/ROTOR - 12" INT - KNOTT 10 EA 50.95$              
534-1010 BRACKET - CALIPER - 10'' INT - TDE 34 EA 22.20$              
534-1020 BRACKET - CALIPER - 12" INT - TDE 38 EA 15.18$              
534-1100 BRACKET - CALIPER - 8" INT - KODIAK 18 EA 32.37$              
534-1110 BRACKET - CALIPER - 10'' INT - KODIAK 52 EA 28.71$              
534-1130 BRACKET - CALIPER - 13'' INT 7K - KODIAK 210 EA 34.63$              
534-1140 BRACKET - CALIPER - 13'' INT 8K - KODIAK 42 EA 28.18$              
534-1250 BRACKET - CALIPER - 13" INT 10K - DEEMAXX 28 EA 103.47$            
534-4100 BRAKE KIT W/HWD - 8'' INT - KODIAK 1 EA 277.82$            
534-4110 BRAKE KIT W/HWD - 10'' INT - KODIAK 10 EA 305.06$            
534-4120 BRAKE KIT W/HWD - 12'' INT - KODIAK 4 EA 399.75$            
535-0110 ROTOR - 10'' S/O - KODIAK 7 EA 34.35$              

Page 5 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

535-0111 ROTOR - 10'' S/O - KODIAK - SS 22 EA 171.83$            
535-0120 ROTOR - 12'' S/O - KODIAK 9 EA 85.03$              
535-0130 ROTOR - 13'' S/O 7K - KODIAK 10 EA 77.66$              
535-0131 ROTOR - 13" S/O 7K - KODIAK - SS 4 EA 312.28$            
535-0211 ROTOR - 10" S/O - DEEMAXX - SS 13 EA 210.23$            
535-0221 ROTOR - 12'' S/O - DEEMAXX - SS 15 EA 242.26$            
535-0310 ROTOR - 10" S/O - MEHER 32 EA 50.95$              
535-0320 ROTOR - 12'' S/O - MEHER 58 EA 50.95$              
535-1110 BRACKET - CALIPER - 10'' S/O - KODIAK 57 EA 13.46$              
535-1111 BRACKET - CALIPER - 10'' S/O - KODIAK - SS 30 EA 32.35$              
535-1113 BRACKET - CALIPER - 10" S/O - KODIAK - ECO 11 EA 32.35$              
535-1120 BRACKET - CALIPER - 12'' S/O - KODIAK 72 EA 21.09$              
535-1121 BRACKET - CALIPER - 12" S/O - KODIAK - SS 27 EA 45.96$              
535-1128 BRACKET - CALIPER - 12'' S/O - KODIAK - OPEN LH 40 EA 18.85$              
535-1211 BRACKET - CALIPER - 10" S/O - DEEMAXX - SS 3 EA 36.65$              
535-1221 BRACKET - CALIPER - 12'' S/O - DEEMAXX - SS 13 EA 90.92$              
535-3010 BRAKE KIT - 10" S/O - TDE 8 EA 161.06$            
535-3310 BRAKE KIT - 10" S/O - MEHER 10 EA 518.58$            
535-4110 BRAKE KIT W/HWD - 10'' S/O - KODIAK 12 EA 312.53$            
535-4111 BRAKE KIT W/HWD - 10'' S/O - KODIAK - SS 6 EA 797.43$            
535-4113 BRAKE KIT W/HWD - 10'' S/O - KODIAK - ECO 4 EA 263.45$            
535-4120 BRAKE KIT W/HWD - 12'' S/O - KODIAK 12 EA 338.76$            
535-4121 BRAKE KIT W/HWD - 12'' S/O - KODIAK - SS 1 EA 773.07$            
535-4221 BRAKE KIT W/HWD - 12'' S/O - DEEMAXX - SS 1 EA 861.95$            
535-4231 BRAKE KIT W/HWD - 13'' S/O 7K - DEEMAXX - SS 1 EA 1,271.24$        
535-9113 SPACER - CALIPER BRACKET - 10" S/O - KODIAK - ECO 15 EA 32.35$              
536-2010 CALIPER - 3-6K - TDE - GALV-X ROTOR 33 EA 82.76$              
536-2100 CALIPER - 225-SB - KODIAK 38 EA 212.60$            
536-2110 CALIPER - 204-SB - KODIAK 10 EA 78.72$              
536-2120 CALIPER - 225 3-6K - KODIAK 62 EA 100.59$            
536-2121 CALIPER - 225 3-6K - KODIAK - SS 48 EA 218.86$            
536-2130 CALIPER - 250 7-8K - KODIAK 116 EA 102.86$            
536-2131 CALIPER - 250 7-8K - KODIAK - SS 2 EA 261.51$            
536-2211 CALIPER - 3-6K - DEEMAXX - SS 10 EA 165.57$            
536-2231 CALIPER - 7-8K - DEEMAXX - SS 3 EA 226.87$            
536-2250 CALIPER - 10-12K - DEEMAXX 9 EA 159.24$            
536-2311 CALIPER - 3K - LH - MEHER 10 EA 66.47$              
536-2312 CALIPER - 3K - RH - MEHER 8 EA 66.47$              
536-9006 PAD - CALIPER SS ROTOR - TDE - (1 AXLE) 11 EA 84.97$              
536-9007 PIN - CALIPER - TDE - SS 504 EA 5.73$                
536-9107 PIN - CALIPER - KODIAK - SS 346 EA 8.75$                
536-9120 KODIAK BRAKE PADS(PR) 35 EA 29.89$              
536-9130 PAD - CALIPER 250 - KODIAK - PR 10 EA 53.07$              
536-9200 REBUILD KIT - CALIPER - DEEMAXX 2 EA 23.88$              
536-9210 PAD - CALIPER 3-6K - DEEMAXX - 1 AXLE 60 EA 28.50$              
536-9211 PAD - CALIPER 3-6K - DEEMAXX - SS - 1 AXLE 19 EA 44.83$              
536-9231 PAD - CALIPER 7-8K - DEEMAXX - SS - 1 AXLE 20 EA 64.31$              
536-9410 PAD - CALIPER 3-6K - KNOTT - PR 1 EA 19.96$              
537-0000 10" HUB & DRUM ONLY 62 EA 31.37$              
537-0020 12'' HUB & DRUM ONLY 76 EA 39.92$              
537-0030 12'' 8 BOLT DRUM ONLY 51 EA 49.57$              
537-1001 BACKING PLATE LH 18 EA 61.72$              
537-1002 BACKING PLATE RH 17 EA 61.72$              

Page 6 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

537-1011 GALVX LH 6 EA 61.83$              
537-1012 GALVX RH 9 EA 61.83$              
537-1021 12'' GALV X HYD BRAKE LEFT 9 EA 81.97$              
537-1022 12'' GALV X HYD BRAKE RIGHT 11 EA 81.97$              
537-9002 DICO WHEEL CYLINDER RS 1 EA 14.30$              
537-9012 DICO BRAKE SHOE 10'' REAR 20 EA 14.27$              
538-1111 10'' ELECTRIC BRAKE-LH 16 EA 45.99$              
538-1112 10'' ELECTRIC BRAKE- RH 23 EA 51.81$              
538-1121 12'' ELECTRIC BRAKE- LH 30 EA 60.57$              
538-1122 12'' ELECTRIC BRAKE- RH 34 EA 60.57$              
539-0001 FITTING - INLINE - BRASS 176 EA 1.72$                
539-0068 BRAKE LINE ONLY - 68'' LENGTH 6 EA 7.27$                
539-0110 BRAKE LINE ONLY - 110'' LENGTH 147 EA 12.06$              
539-9000 BRAKE LINE KIT - 15' FT 6 EA 34.13$              
539-9001 BRAKE LINE KIT - 18' FT 6 EA 37.73$              
539-9002 BRAKE LINE KIT - 21' FT - 72'' WIDE - NO. OF AXLES 1 6 EA 39.30$              
539-9003 BRAKE LINE KIT - 21' FT - 80'' WIDE - NO. OF AXLES 1 6 EA 40.95$              
539-9004 BRAKE LINE KIT - 21' FT - 72'' WIDE - NO. OF AXLES 2 6 EA 67.98$              
539-9005 BRAKE LINE KIT - 21' FT - 80'' WIDE - NO. OF AXLES 2 5 EA 66.26$              
539-9006 BRAKE LINE KIT - 21' FT - 72'' WIDE - NO. OF AXLES 3 5 EA 85.57$              
539-9007 BRAKE LINE KIT - 21' FT - 80'' WIDE - NO. OF AXLES 3 6 EA 91.47$              
539-9008 BRAKE LINE KIT - 25' FT - 72'' WIDE - NO. OF AXLES 1 7 EA 40.50$              
539-9009 BRAKE LINE KIT - 25' FT - 80'' WIDE - NO. OF AXLES 1 5 EA 43.96$              
539-9010 BRAKE LINE KIT - 25' FT - 72'' WIDE - NO. OF AXLES 2 5 EA 70.15$              
539-9012 BRAKE LINE KIT - 25' FT - 72'' WIDE - NO. OF AXLES 3 6 EA 93.57$              
541-0141 FENDER - 14''T - S/A - SLANT BK LH - ALUM 105 EA 47.49$              
541-0142 FENDER - 14''T - S/A - SLANT BK RH - ALUM 66 EA 47.49$              
542-0030 FENDER - 13''T - T/A - 60'' L - ALUM 19 EA 60.14$              
542-0032 FENDER - 13"-14"T - T/A - 60" L - ALUM 66 EA 61.05$              
542-0033 FENDER - T/A - 57.5"L X 9"W X 15.75"H - ALUM 26 EA 103.23$            
542-0052 FENDER - T/A - 88"L X 10"W X 17"H - ALUM 10 EA 103.65$            
542-0140 FENDER - 14''T - T/A - SLANT BACK - ALUM 54 EA 126.80$            
544-1013 STEP 11-1/4" w/ Holes PL FENDER - ALUM 26 EA 19.86$              
546-0000 FENDER SUPPORT - SPACER - ALUMINUM  - 3" X 3" 947 EA 8.21$                
546-1001 BRACKET - 11'' H (17'') FENDER SUPPORT - ALUM 27 EA 9.72$                
546-1003 BRACKET - 13'' H (19'') FENDER SUPPORT - ALUM 16 EA 11.88$              
546-1005 BRACKET - 19'' H (24'')FENDER SUPPORT 20K - ALUM 13 EA 13.95$              
546-1007 BRACKET - 16" H (21") FENDER SUPPORT APS TRAILER - ALUM 20 EA 7.14$                
550-0801 TIRE 5.70 X 8B 4 PLY 1 EA 28.11$              
550-1311 TIRE KENDA 175/80D13C 13 EA 36.33$              
550-1411 TIRE KENDA  205D14C 3 EA 44.73$              
550-1512 ST225/75D15 6 PLY 1 EA 77.92$              
551-1310 RADIAL TIRE - 13C 2 EA 63.47$              
551-1510 ST205/75R15C RADIAL TIRE 7 EA 84.10$              
552-0840 4 HOLE RIM 8" WH PLAIN 2 EA 10.67$              
552-1041 4 HOLE RIM 10'' GAL PLAIN 2 EA 39.14$              
552-1452 5 HOLE 14" ALU SPOKE - STAR 5 EA 81.93$              
553-0802 T/W 8'' B ON 4 WHITE 3 EA 44.30$              
553-0803 T/W 8'' B 0N 5 WHITE 5 EA 40.84$              
553-0804 T/W 8" B ON 4  WHITE OFF ROAD 1 EA 52.70$              
553-1210 T/W 12" C ON 5 WHITE 3 EA 39.20$              
553-1310 T/W 13" C ON WHITE K558 5 EA 51.12$              
553-1410 T/W 14'' C ON 5 WHITE 13 EA 83.36$              

Page 7 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

555-1200 T/W - 4.80D - 12B - 5 HOLE - ALUM 1 EA 77.00$              
555-1411 T/W 14'' RADIAL C ON 5 AL/SP 1 EA 157.04$            
555-1416 T/W 14'' RADIAL C - 7-STAR ALUM 5 EA 118.15$            
555-1630 TW235/80R 16E 8H ALUM 2 EA 220.95$            
555-1633 T/W - 235/80R - 16E - 6 HOLE - ALUM SPLIT 2 EA 106.57$            
555-1634 T/W - 235/80R - 16E - 6 HOLE - ALUM SPLIT BLK 3 EA 256.95$            
555-1641 T/W - 235/85R - 16F - 8 HOLE - ALUM SPLIT BLK 10 EA 164.31$            
555-1750 LT 235/75R17.5H SH HD ALUM RIM 20 EA 597.66$            
555-9000 RIM CLAMP 108 EA 1.36$                
555-9003 CTR CAP 12''-14'' ALUM WHL 1 EA 9.05$                
555-9004 CTR CAP 15'' 6LUG ALUM WHEEL 14 EA 10.52$              
555-9005 CTR CAP 15'' 6 LUG SENDEL ALUM 22 EA 10.52$              
560-0620 CASTER RIGID MOUNT 6 EA 17.31$              
999-9996 SPINDLE - 1 1/16'' X 1 1/16'' - 1 1/2" - R - SPECIAL DEAL 550 18.15$              
BUNK
604-0006 BUNK CARPET - 6'' X 6' 49 EA 2.24$                
604-9000 BUNK CARPET - 72" X 150' - BLACK 60 RL150 454.57$            
605-4001 END CAP - BUNK SLICK - 2'' X 4'' - CALIBER 2,500 EA 0.73$                
607-1113 BUNK BRACKET - 2'' X 4'' X 12 1/2'' VERTICAL  - GALV 38 EA 5.76$                
607-1200 BUNK BRACKET - CHOCK POST - SQ - 1 1/2" X 12" 10 EA 9.97$                
607-1210 BUNK BRACKET - CHOCK POST - RD - 1 1/2" X 12" 48 EA 12.17$              
607-1211 BUNK BRACKET - CHOCK POST - RD - 1 1/2" X 16" - GALV 69 EA 13.08$              
607-1220 BUNK BRACKET - CHOCK POST - RD - 1 1/2" X 12" - 4" X 4" BUNK 24 EA 13.28$              
607-1321 BUNK BRACKET - VERTICAL - 10" - GALV 8 EA 11.88$              
607-1520 BUNK BRACKET - PONTOON - SML ADJ - GALV 181 EA 9.76$                
607-1531  BUNK BRACKET - BOLSTER - LH - GALV 12 EA 3.35$                
607-2520 BUNK BRACKET ASSY - PONTOON - SML 61 EA 26.58$              
611-0048 BUNK - HORIZONTAL - 2'' X 4'' X 48'' (4') 9 EA 7.98$                
615-2000 5' ROLLER BUNK - PAIR 4 EA 111.41$            
620-2110 BOW CENTER GUIDE FLAT ASSY 10 EA 60.80$              
621-9060 95-BG6 BOAT GUIDE HARDWARE KIT 2 EA 25.17$              
622-4000 ROLLER GUIDE-ON 7 EA 85.88$              
ELECTRICAL
700-0511 COMBO TAIL LIGHT LH 40 EA 2.48$                
700-0521 COMBO TAIL LIGHT LH W/7'' WIRE 2 EA 2.52$                
701-0552 TAIL LIGHT (RIGHT) 1 EA 7.48$                
701-0561 SUBMERSIBLE TAIL LIGHT 4 EA 2.76$                
701-0571 LOW PROFILE LIGHT LH 3 EA 3.32$                
701-2031 AUST. LED TAIL LIGHT LH 2 EA 19.09$              
701-2032 AUST. LED TAIL LIGHT RH 9 EA 19.09$              
702-0000 BAITWELL LIGHT- CLEAR 141 EA 2.52$                
702-0012 LED RED SIDE LIGHT 579 EA 5.25$                
702-0021 2'' AMBER LIGHT 139 EA 3.04$                
702-0031 LED 2 1/2'' AMBER LIGHT 42 EA 3.25$                
702-0032 LED 2 1/2'' RED LIGHT 85 EA 4.37$                
702-0051 LED AMBER SIDE LIGHT 231 EA 2.76$                
702-0052 LED RED SIDE LIGHT 442 EA 2.67$                
702-0521 AMBER SIDE LIGHT 172 EA 0.84$                
702-0531 CLEARANCE LIGHT - AMBER 187 EA 0.90$                
702-9000 RED REFLECTOR-ADHESIVE 62 EA 0.64$                
702-9001 RED REFLECTOR-SCREW ON 224 EA 0.84$                
703-2012 GUIDE POST LED LIGHT KIT 3 EA 23.60$              
704-0510 RED LIGHT BAR W/60'' WIRE 233 EA 3.89$                

Page 8 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

705-4160 16/4 PARALLEL WIRE-100' 21 EA 55.21$              
706-1401 4 POLE FLAT CONN MALE 278 EA 1.44$                
706-1425 25' HARNESS BULK 61 EA 6.38$                
706-1430 30' HARNESS BULK 69 EA 8.11$                
706-1435 35' HARNESS BULK 131 EA 9.35$                
706-1504 4' 5 WAY TRUNK BULK 5 EA 2.76$                
706-1505 5' 5 WAY  MALE 97 EA 6.79$                
706-1525 25'  5 WAY HARNESS 76 EA 12.10$              
706-1530 30' 5 WAY HARNESS BULK 33 EA 12.39$              
706-1535 35' 5 WAY HARNESS BULK 48 EA 12.87$              
706-2201 2 POLE FLAT CONN M & F 56 EA 1.51$                
706-3401 4 POLE FLAT CONN MALE - PACKAGED 41 EA 2.55$                
706-3420 20' HARNESS - PACKAGED 42 EA 7.21$                
706-3425 25' HARNESS - PACKAGED 54 EA 10.87$              
706-3430 30' HARNESS - PACKAGED 56 EA 11.23$              
706-3435 35' HARNESS - PACKAGED 73 EA 15.00$              
706-4201 2 POLE FLAT CONN M & F - PACKAGED 25 EA 1.75$                
706-4405 4 POLE FLAT CONN M & F - PACKAGED 26 EA 6.12$                
706-4425 TRAILER WIRING KIT 25' 8 EA 13.33$              
706-4430 TRAILER WIRING KIT 30' 12 EA 15.42$              
707-1435 4 WAY 35' FULL GROUND HARNESS 65 EA 12.86$              
707-1706 LED TEST 7-WAY W/6' LEAD 27 EA 42.47$              
708-0601 6 POLE METAL SOCKET 425 EA 4.54$                
708-0602 6 POLE METAL PLUG 84 EA 3.04$                
708-0702 7 POLE PLASTIC PLUG 74 EA 2.48$                
708-0703 AUSTRALIAN 7-PIN PLUG 20 EA 10.07$              
708-1740 Plug Adapter - 7-Way Blade to 4-Way Flat 24 EA 7.95$                
708-1750 Plug Adapter - 7-Way Blade to 5-Way Flat 70 EA 10.56$              
708-1751 7 TO 5 ADAPTER-BULK 47 EA 5.15$                
708-3400 4 WIRE FLAT CONV.-BULK 2 EA 17.09$              
708-4400 4 WIRE FLAT CONVERTER 12 EA 22.25$              
709-2160 CONNECTOR - BL SPLICE  - GREASED 6,000 EA 0.34$                
710-0313 GROMMET - SMALL - 5/16'' D - BAG20 413 EA 2.52$                
710-0438 GROMMET - WASHER - 7/16'' D - BAG20 491 EA 2.94$                
710-0625 GROMMET - MEDIUM - 5/8'' D - BAG20 534 EA 3.46$                
710-0875 GROMMET - LARGE - 7/8'' D - BAG20 426 EA 7.66$                
711-2081 81/4'' TIE WRAP BLK/HO 3,800 BG100 4.69$                
713-0020 ZINC LICENSE BRACKET 35 EA 0.97$                
RAW MATERIAL, HARDWARE, ACCESSORIES
802-0701 TUBE 3'' X 3'' X 1/4'' CUT @ 5' - ALUM 1 EA 84.97$              
806-0213 KNURLED 4'' CH STEP PAD - 13'' SIZE - ALUM 61 EA 15.11$              
806-0215 KNURLED 4'' CH STEP PAD - 15'' SIZE - ALUM 10 EA 26.33$              
822-0208 TUBE 1.5" X 1.5" 11GA @ 96" (8FT) - GALV 27 EA 31.84$              
822-0508 TUBE 2" X 2" X 7GA - GALV CUT @ 8' 11 EA 60.77$              
822-1105 TONGUE 3'' X 3'' X 5'  / 7GA - GALV 38 EA 84.97$              
828-1000 CHAIN - 1/4'' HIGH TEST - GALV 325 FT 1.61$                
828-3000 HIGH TEST CHAIN 5/16 341 FT 2.52$                
831-0212 BLUE TORSION KEEL PAD 2.5X12'' 123 EA 3.15$                
831-0313 BLACK KEEL PAD 3X12 209 EA 2.42$                
831-1210 KEEL PAD 1 1/2'' X 10 168 EA 5.41$                
832-0200 END CAP 2" X 2" TUBE - VINYL 50 EA 0.87$                
832-0300 END CAP 3'' X 3'' TUBE - VINYL 319 EA 1.51$                
832-0301 CAP 3'' X 3'' TUBE - VINYL BLK 101 EA 1.51$                

Page 9 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

832-0304 END CAP 3" X 4" TUBE - VINYL 165 EA 1.48$                
832-1300 END CAP 3'' X 3'' SLANT TUBE - VINYL 67 EA 1.03$                
832-2150 END CAP PLUG 1.5'' X 1.5'' 1,707 EA 0.46$                
832-2200 END CAP PLUG 2'' X 2'' 2,319 EA 0.46$                
832-2203 END CAP PLUG 2'' X 3'' 1,957 EA 0.84$                
832-2300 END CAP PLUG 3'' X 3'' 2,389 EA 0.87$                
832-2304 END CAP PLUG 3'' X 4'' 1,196 EA 2.84$                
834-2002 CONSPICUITY TAPE- 18 1,790 EA 0.84$                
834-2005 2''X 3.25'' REFLECT TAPE 3,629 EA 0.49$                
834-2006 2'' X 2.75'' RED REFLECTIVE TAPE 452 EA 0.42$                
834-2180 WHITE TAPE DS702 33 EA 18.80$              
840-0004 U-BOLT - SQ 3/8'' (UB4G) - 1 5/8''W X 4 1/8''L - GALV 746 EA 0.59$                
840-0007 U-BOLT - SQ 3/8'' (UB7G) - 3 1/8''W X 3 7/8''L - GALV 3,456 EA 0.62$                
840-0008 U-BOLT - SQ 3/8'' (UB8G) - 2 7/8''W X 3 1/2''L - GALV 61 EA 0.51$                
840-0018 U-BOLT - SQ 3/8'' (UB18G) - 2 1/8''W X 1 7/8''L - GALV 3,335 EA 0.34$                
840-0023 U-BOLT - SQ 3/8'' (UB23G) - 2 1/8''W X 7''L - GALV 366 EA 0.81$                
840-0024 U-BOLT - SQ 3/8'' (UB24G) - 1 5/8''W X 2 5/8''L - GALV 4,128 EA 0.42$                
840-0031 U-BOLT - SQ 3/8'' (UB31G) - 1 5/8''W X 5 5/8''L - GALV 85 EA 1.00$                
840-0033 U-BOLT - SQ 3/8'' (UB33G) - 2 1/8''W X 8''L - GALV 100 EA 1.41$                
840-0035 U-BOLT - SQ 3/8" (UB35G) - 2"W X 3"L - GALV 18,582                EA 0.40$                
840-0040 U-BOLT - SQ 3/8" (UB40G) - 2 1/8"W X 4"L - GALV 7,179 EA 0.54$                
840-0102 U-BOLT - RD 3/8'' (UB2G) - 1 3/4''W X 4 3/4''L - GALV 422 EA 0.62$                
840-0124 U-BOLT - RD 3/8'' (UB24AG) - 1 3/4''W X 2 5/8''L - GALV 480 EA 0.57$                
840-1015 U-BOLT - SQ 1/2'' (UB15G) - 3 1/8''W X 5 3/8''L - GALV 6,383 EA 1.33$                
840-1016 U-BOLT - SQ 1/2'' (UB16G) - 3 1/8''W X 2 3/8''L - GALV 7,275 EA 0.77$                
840-1017 U-BOLT - SQ 1/2'' (UB17G) - 4 1/8''W X 3''L - GALV 408 EA 0.94$                
840-1019 U-BOLT - SQ 1/2'' (UB19G) - 3 3/8''W X 6 1/4''L - GALV 280 EA 1.26$                
840-1020 U-BOLT - SQ 1/2'' (UB20G) - 3 1/8''W X 8 7/8''L - GALV 302 EA 1.61$                
840-1026 U-BOLT - SQ 1/2" (UB26G) - 3 1/8"W X 4 3/8"L - GALV 22,432                EA 0.92$                
840-1028 U-BOLT - SQ 1/2'' (UB28G) - 3''W X 7 3/4''L - GALV 2,110 EA 1.79$                
840-1029 U-BOLT - SQ 1/2'' (UB29G) - 4 1/4''W X 7 1/2''L - GALV 44 EA 1.75$                
840-1032 U-BOLT - SQ 1/2'' (UB32G) - 3 3/8''W X 5 1/4''L - GALV 643 EA 1.26$                
840-1034 U-BOLT - SQ 1/2'' (UB34G) - 2 5/8''W X 3''L - GALV 66 EA 1.03$                
840-1036 U-BOLT - SQ 1/2'' (UB36G) - 4 7/8''W X 8 3/8''L - GALV 1,523 EA 1.54$                
840-1038 U-BOLT - SQ 1/2'' (UB38G) - 3 1/8''W X 6 3/8''L - GALV 850 EA 1.52$                
840-1042 U-BOLT - SQ 1/2'' (UB42G) - 3 3/4''W X 7''L - GALV 547 EA 1.54$                
840-1045 U-BOLT - SQ 1/2'' (UB45G) - 3 1/8''W X 3 1/4''L - GALV 4,431 EA 0.96$                
840-1046 U-BOLT - SQ 1/2'' (UB46G) - 3 3/8''W X 2 3/8''L - GALV 1,326 EA 0.94$                
840-1210 U-BOLT - SQ 1/2'' (UB10AG) - 1 7/8''W X 5''L - GALV 171 EA 1.16$                
840-1227 U-BOLT - SQ 1/2'' (UB27AG) - 2 1/8''W X 5 1/2''L - GALV 1,609 EA 1.16$                
841-1019 U-BOLT - SQ 1/2'' (UB19SS) - 3 1/2''W X 6 1/4''L - SS 572 EA 3.57$                
841-1036 U-BOLT - SQ 1/2'' (UB36SS) - 4 7/8''W X 8 3/8''L - SS 52 EA 4.57$                
841-1042 U-BOLT - SQ 1/2'' (UB42SS) - 3 3/4''W X 7''L - SS 64 EA 4.12$                
842-1014 U-BOLT - SQ 1/2''-20 (UB14) - 3 7/8''W X 8 5/8''L - ZINC 243 EA 3.35$                
842-1041 U-BOLT - SQ 1/2''-20 (UB41) - 3 5/8''W X 12''L - ZINC 135 EA 6.40$                
843-4750 PLATE P75A FOR BG6 HARDWARE - ALUM 2 EA 2.13$                
844-2083 PLATE WINCH BASE 5H - STEEL (42083) 1,358 EA 3.57$                
844-2084 PLATE WINCH BASE 5H - STEEL (42084) 711 EA 6.05$                
844-2087 PLATE LIGHT DUTY WINCH - STEEL (42087) 2,615 EA 2.36$                
844-2500 BOW STOP PLATE 1,492 EA 1.89$                
844-3582 PLATE WINCH BASE - STEEL (43582) 1,234 EA 19.93$              
846-1130 BOLT - 1/4" X 3" - GALV 1,610 BX25 10.31$              
846-1445 BOLT - 1/2'' X 4 1/2'' - GALV 100 BX25 19.67$              

Page 10 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

846-2210 BOLT - 3/8'' X 1'' - GR2 20,810                BX100 8.73$                
846-2215 BOLT - 3/8'' X 1 1/2'' - GR2 2,164 BX100 18.29$              
846-2225 BOLT - 3/8" X 2 1/2" - GR2 4,120 BX50 14.05$              
846-2230 BOLT - 3/8'' X 3'' - GR2 6,471 BX50 15.53$              
846-2235 BOLT - 3/8" X 3 1/2" - GR2 1,105 BX50 13.92$              
846-2240 BOLT - 3/8'' X 4'' - GR2 1,930 BX50 13.92$              
846-2245 BOLT - 3/8" X 4 1/2" - GR2 1,325 BX50 23.10$              
846-2410 BOLT - 1/2'' X 1'' - GR2 26,974                BX50 10.59$              
846-2415 BOLT - 1/2'' X 1 1/2'' - GR2 9,329 BX50 14.05$              
846-2425 BOLT - 1/2" X 2 1/2" - GR2 380 BX50 23.67$              
846-2430 BOLT - 1/2'' X 3'' - GR2 6,371 BX50 23.67$              
846-2440 BOLT - 1/2'' X 4'' - GR2 178 BX25 17.81$              
846-2445 BOLT - 1/2" X 4 1/2" - GR2 1,231 BX25 16.63$              
846-2450 BOLT - 1/2'' X 5'' - GR2 343 BX25 21.84$              
846-2455 BOLT - 1/2" X 5 1/2" - GR2 1,560 BX50 42.21$              
846-2460 BOLT - 1/2'' X 6'' - GR2 636 BX25 24.76$              
846-2470 BOLT - 1/2'' X 7'' - GR2 777 BX25 31.81$              
846-2540 BOLT - SHACKLE - 9/16'' X 4'' - GR2 150 BX25 28.50$              
846-2635 BOLT - 5/8" X 3 1/2" - GR2 100 BX25 16.36$              
846-2640 BOLT - 5/8" X 4" - GR2 241 BX25 18.69$              
846-2655 BOLT - 5/8" X 5 1/2" - GR2 25 BX25 28.05$              
846-2665 BOLT - 5/8" X 6 1/2" - GR2 402 BX25 34.93$              
846-3313 BOLT - 7/16" X 1 1/4" - SS 4,311 BX50 22.43$              
846-5415 BOLT - 1/2'' X 1 1/2'' - GR5 1,128 BX50 19.50$              
846-5435 BOLT - 1/2'' X 3 1/2'' - GR5 18,263                BX25 14.43$              
846-5440 BOLT - 1/2" X 4" - GR5 4,120 BX25 15.81$              
846-5625 BOLT - 5/8'' X 2 1/2'' - GR5 2,407 BX50 56.56$              
846-5650 BOLT - 5/8" X 5" - GR5 350 BX25 26.81$              
846-8420 BOLT - 1/2" X 2" - GR8 76 BX50 21.45$              
847-8213 BOLT - 3/8''-24 X 1 1/4'' - GR8 3,538 BX50 9.47$                
848-1210 CARRIAGE BOLT - 3/8" X 1" - GALV 1,500 BX100 15.40$              
848-2110 CARRIAGE BOLT - 1/4'' X 1'' - GR2 19,764                BX100 6.21$                
848-2210 CARRIAGE BOLT - 3/8'' X 1'' - GR2 5,587 BX100 15.25$              
849-2210 EYE BOLT - 3/8" X 1" - GR2 1,126 BX50 50.00$              
849-2225 EYE BOLT - 3/8" X 2 1/2" - GR2 3,712 BX50 50.00$              
850-1115 LAG BOLT - 1/4'' X 1 1/2'' - GALV 2,305 BX100 8.88$                
850-1215 LAG BOLT - 3/8'' X 1 1/2'' - GALV 400 BX100 20.71$              
851-2110 TEK SCREW - 1/4'' X 1'' - GR2 10,538                BX100 7.10$                
853-0645 SCREW - M6 X 65MM - SELF DRILL WINGED 5,720 BX100 35.75$              
854-1010 NUT HEX - 1/4" - GALV 5,211 BX100 5.49$                
854-1020 NUT HEX - 3/8'' - GALV 5,732 BX100 7.06$                
854-2021 NUT HEX - 3/8"-24 - ZINC 3,996 BX100 5.49$                
854-3010 1/4'' S.S. NUT 24,344                BX100 4.29$                
854-8040 NUT HEX - 1/2" - GR8 76 BX100 15.25$              
855-1240 NUT TOP LOCK - 1/2'' - GALV 7,595 BX100 17.76$              
855-2160 NUT NY-LOCK - 5/8" - ZINC 3,522 BX100 17.05$              
855-2170 NUT NY-LOCK - 3/4" - ZINC 396 BX100 24.75$              
855-2320 NUT DIMPLED LOCK - 3/8'' - ZINC 5,515 BX100 5.92$                
855-2340 NUT DIMPLED LOCK - 1/2'' - ZINC 3,000 BX100 21.09$              
855-2350 NUT DIMPLED LOCK - 9/16''-18 - ZINC 2,350 BX50 11.03$              
855-2420 NUT WHIZ - 3/8'' - ZINC 5,051 BX100 5.92$                
855-2440 NUT WHIZ - 1/2'' - ZINC 2,998 BX100 14.79$              
855-2510 NUT K-LOCK - 1/4'' - ZINC 35,588                BX100 3.22$                

Page 11 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

855-3110 NUT NY-LOCK - 1/4'' - SS 1,900 BX100 5.25$                
857-1010 WASHER FLAT - 1/4" - GALV 1,488 BX100 4.44$                
857-1020 WASHER FLAT - 3/8'' - GALV 11,841                BX100 4.44$                
857-1040 WASHER FLAT - 1/2'' - GALV 12,273                BX100 8.63$                
857-1060 WASHER FLAT - 5/8" - GALV 1,737 BX100 15.34$              
857-1062 WASHER FLAT - 5/8" ID - 2 1/2" OD - GALV 52 EA 1.39$                
857-1070 WASHER FLAT - 3/4" - GALV 679 BX25 12.69$              
857-1110 WASHER LOCK - 1/4" - GALV 7,406 BX50 4.13$                
857-1120 WASHER LOCK - 3/8'' - GALV 28,147                BX100 4.74$                
857-1260 WASHER BEVEL - 5/8'' - GALV 942 BX25 14.00$              
857-8140 WASHER LOCK - 1/2" - GR8 76 BX100 8.63$                
858-0610 RIVET # 610L - 3/16" - ALUM (LARGE FLANGE) 23,400                BX100 10.40$              
859-0653 PIN HD - 5/8'' X 5 1/4''L - W/HAIR PIN 35 EA 7.27$                
859-1450 PIN BENT - 1/2'' - NO HAIR PIN 204 EA 2.03$                
859-2400 HAIR PIN - FOR 1/2'' PIN 508 EA 1.12$                
859-3130 PIN HD - 1/4'' X 3''L 57 EA 2.97$                
859-3228 SNAP PIN - 3/8'' X 2 3/4''L 1 EA 0.97$                
860-4014 TIRE CARRIER - STL14 W/LOCK 23 EA 18.85$              
860-4126 SPARE T/C - OFFSET - ZINC 1 EA 81.27$              
860-9000 LOCK BRACKET - FOR STL14/STL15 - GALV 74 EA 3.16$                
861-1205 SPARE T/C - TONGUE - NO HUB - 5 LUG - GALV 78 EA 37.31$              
861-1206 SPARE T/C - TONGUE - NO HUB - 6 LUG - GALV 31 EA 50.63$              
861-1215 SPARE T/C - I-BEAM - NO HUB - 5 LUG - GALV 119 EA 34.83$              
862-4079 SPARE T/C - TONGUE - 5 LUG HUB - W/HDW 6 EA 82.63$              
862-9000 TIRE CARRIER I-BEAM MOUNT 23 EA 31.23$              
863-0412 COVER - SPARE TIRE - 12'' TIRE - VINYL 77 EA 6.96$                
863-0413 COVER - SPARE TIRE - 13'' TIRE - VINYL 26 EA 11.47$              
863-0415 COVER - SPARE TIRE - 15'' TIRE - VINYL 21 EA 12.30$              
864-0216 STRAP - TIE DOWN - 16' LONG 103 EA 6.54$                
864-0218 STRAP - TIE DOWN - 18' LONG 98 EA 6.82$                
864-0220 STRAP - TIE DOWN - 20' LONG 178 EA 7.10$                
864-1106 STRAP - 1" MOTORCYCLE TIE DOWN 8 EA 9.44$                
864-1220 STRAP PACKAGED - FLAT HOOK - 2'' X 20' W/RATCHET 92 EA 12.77$              
864-1227 STRAP PACKAGED - FLAT HOOK - 2'' X 27' W/RATCHET 67 EA 16.74$              
864-2206 STRAP - J HOOK - 2'' X 6' 55 EA 14.48$              
864-9522 PLATE - BOW TIE DOWN - GALV 342 EA 5.38$                
864-9534 BOW TIE DOWN SET - 3'' TONGUE 18 EA 19.44$              
864-9600 TIE DOWN RING - 6K - FLUSH - ZINC 243 EA 3.46$                
865-0101 BALL - COUPLER - 1 7/8'' - 3/4'' D LONG SHANK - 2K 17 EA 7.91$                
865-0110 BALL - COUPLER - 1 7/8'' - 1'' D SHANK - 2K 58 EA 8.57$                
865-1004 BALL MOUNT - 3 1/2" DROP - MICRO MINI 18 EA 21.27$              
865-1084 BALL MOUNT - 4'' DROP - 3/4'' RISE - IMPORTED 269 EA 12.72$              
865-1186 BALL MOUNT - 6" DROP - 4 3/4" RISE - IIMPORTED 195 EA 15.11$              
865-2121 RECEIVER TUBE - 2'' X 2'' X 12'' L - PAINT 39 EA 10.84$              
865-3200 HITCH - COMB - MULTI-BALL - ADJ 383 EA 84.73$              
865-9008 NUT - COUPLER BALL - 3/4'' D SHANK 19 EA 0.36$                
865-9010 NUT - COUPLER BALL - 1'' D SHANK 22 EA 0.90$                
865-9108 LOCK WASHER - COUPLER BALL - 3/4'' D SHANK 118 EA 0.18$                
865-9110 LOCK WASHER - COUPLER BALL - 1'' D SHANK 23 EA 0.36$                
866-0020 PINTLE HOOK - 10 TON - 20K 223 EA 48.89$              
866-1080 PINTLE MOUNT - 8 1/2'' SHANK 8 EA 67.91$              
866-1081 PINTLE MOUNT - 8 1/2'' SHANK - IMPORTED 20 EA 21.89$              
866-1100 PINTLE MOUNT - 10 1/2'' SHANK 17 EA 86.00$              

Page 12 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com



Item No. Description
Quantity
On Hand

Unity Of 
Measure

 Special Pricing 

866-1200 PINTLE MOUNT - 12 1/2'' SHANK 12 EA 88.89$              
866-1201 PINTLE MOUNT - 12 1/2'' X 2 1/2'' SQ SHANK 1 EA 72.52$              
866-1400 PINTLE MOUNT - 14 1/2'' SHANK 10 EA 101.69$            
866-2121 BALL MOUNT - COMB - 8" DROP - ADJ - ALUM - 10K - 2.5" SHANK 23 EA 95.17$              
866-2122 BALL MOUNT - COMB - 10" DROP - ADJ - ALUM - 10K - 2.5" SHANK 25 EA 104.40$            
866-4010 PINTLE HOOK KIT - 5 TON - 10K 68 EA 22.27$              
866-4030 PINTLE HOOK KIT - 15 TON - 30K 22 EA 36.57$              
866-9210 BALL - COMB PINTLE HOOK - 2'' - 1 1/8'' D SHANK - 7K 9 EA 6.02$                
866-9310 BALL - COMB PINTLE HOOK - 2 5/16'' - 1 1/8'' D SHANK - 12K 8 EA 6.69$                
867-0130 LOCK - PADLOCK - 3/16'' SHACKLE - BRASS - ML 16 EA 4.02$                
867-0140 LOCK - PADLOCK - 1/4'' SHACKLE - BRASS - ML 2 EA 5.15$                
867-0170 LOCK - DISK - 3/8'' SHACKLE - SS - TRIMAX 11 EA 9.41$                
867-0371 LOCK - ARMOR - 7/16'' SHACKLE - KEYED ALIKE - ML 1 EA 9.86$                
867-1001 LOCK - RECEIVER - 1/2" D - SNAP-ON - ML 6 EA 8.60$                
867-1011 LOCK - RECEIVER - 5/8'' D - SNAP-ON EXT - SS - ML 27 EA 18.12$              
867-1020 LOCK - RECEIVER - 1/2'' D - 5/8'' D - SNAP-ON - ML 13 EA 11.47$              
867-1300 LOCK - RECEIVER - 5/8'' D - SS - TRIMAX 3 EA 23.21$              
867-2848 LOCK - COUPLER - LATCH ADJ - KEYED ALIKE - SS - ML 6 EA 16.36$              
867-3000 LOCK - COUPLER - 1 7/8'' - 2'' BALL - ML 5 EA 28.74$              
867-3020 LOCK - COUPLER - UNIVERSAL - ML 23 EA 21.76$              
867-3110 UNIVERSAL SOLID HARDENED STEEL 16 EA 55.84$              
867-3200 LOCK - COUPLER - 2" BALL - TOW READY 2 EA 26.72$              
867-3794 LOCK SET - 3 PADLOCK - KEYED ALIKE - ML 12 EA 45.77$              
867-4100 LOCK - RECEIVER SB - 5/8'' D X 4 3/8'' SPAN - TRIMAX 8 EA 16.68$              
867-4200 LOCK - RECEIVER SB - TRIMAX 18 EA 9.79$                
870-6151 RAMP - MOTORCYCLE - 5' LONG 20 EA 41.16$              
CONSUMABLES, OPTIONS, MISCELLANEOUS
905-3004 LUBMATIC GREASE 3 PK 3OZ 14 EA 6.88$                
907-0001 SLYDZ-ON - CALIBER - SPRAY 16OZ. 6 EA 7.54$                
907-6102 QD ELECTRONIC CLEANER 85 EA 4.61$                
908-0025 ALL PURPOSE CLEANER QT 1 EA 4.37$                
908-0219 CRC CLEANER & DEGREASE 28 EA 8.33$                
908-1001 26-PB PENETRATING LUBE - 18OZ 119 EA 5.25$                
908-2016 SURFACE SHIELD RUST PROTECTANT 12 OZ CAN 95 EA 8.37$                
908-2226 CRC CORROSION INHIBITOR 7 EA 7.29$                
908-4101 CRC SALT TERM W/MIXER 23 EA 23.63$              
908-4164 CRC CARB.& CHOKE 12 OZ 59 EA 4.75$                
908-4168 CRC ENGINE-STOR 13 OZ. 8 EA 4.12$                
908-4308 STARTRON 8 0Z FUEL TREAT 12 EA 7.73$                
909-0245 LUBMATIC QT OIL PUMP 5 EA 6.99$                
999-9989 TORSION/BR ASSY - VEE - 72" FRAME - 3,500 # - MEHER 45 EA 237.08$            
999-9991 JACK 800 # - STABILIZER 4 EA 29.87$              

Page 13 of 13

P: 305-594-1022
9100 NW 58th Street Doral, Fl 33178 

sales@waterlandsupply.com


	Garage Sale List for Mktg



